Yr10 
Physics - Problems



1.  Determine the acceleration from the following ticker timer tape.  Assume frequency is 50Hz.



    



    


2.  A bus accelerated from 90k/h to 45k/h in 8 seconds.  Determine the acceleration.  

3.  Usain Bolt took 3.5 seconds to come to rest while running at top speed of 44.7km/h.  What distance did he cover to come to a stop?  

4.  A hockey stick hit a 170g stationary puck, which took it 0.7 second to cover a distance of 18m.  Determine the force applied to the puck. 

5.  A motorboat takes off with a uniform acceleration of 3.5ms-2.  Determine its displacement in the first 4minutes of its journey.

6.  A cyclist moving at 45km/h has the brakes applied for 3 seconds. Find the final velocity, if retardation due to brakes is 3.2 ms-2. 

7.  Study the following motion graph shown below:








a)  Calculate the acceleration during the first 9 seconds.

b)  Describe the motion of the object.

c)  Determine the displacement over the last 9 seconds of motion.

8.  A reversing rubbish truck collides with a 2600kg stationary car with its gear in neutral with a force of 9000N.  What velocity would the car reach after 1.5 seconds?  

9.  A 4WD Nissan Patrol takes 8 seconds to reach a maximum speed of 160km/h compared with a Holden Gemini, which takes only 6 seconds to reach the same top speed. Explain using the correct Newton’s law.  (assume the same engine is supplied for both cars).

10.  A golf stick hits a golf ball with a force of 15N.  If the ball takes 4 seconds to cover a distance of 500m, determine its mass. 
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